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1. A girl is facing East. She tumns 225° in the

labelled ag Asserti ‘OW ang they are 5. 4 o
| T 255 01 (A) and Regqnn, : 'Wﬁﬂ-*ﬂ%ma—gm@m
?1( e (ot R ) oo g 3 aﬂ:%f; Assertion (4) . 5, N a) il :': (R). T (R) 51, g o (A) 3
anticlockwise direction and then 135° in L::: 135° ST (S F) T ey ¥ oam for %T{E:’s. ~Rpostant ey ; e (wrif) o -
clackwise direction. Which direction 15 & a g e fam =it s ¥ Reason (g . or%‘if Matter lipary, 7 o e 31 -
facing now 7 Tee—afrsw o ""‘““3‘1}5 in the soy. o H (R) : s (wrif) T o
: (1) Select correct answer itk the help of A 5wy % H
-Wes g ode ; s i
(1) North-We @ M ()5 e b e TR o
i R @) em @ () s false buf iy, D W7 v 1) e,
(3)  West (3) Both (A) and (R} are iR ® 2} (4 g, T (R) W 2
W ™ ' correct explanation of (), | P WEmEmamg ). (3) 51
g3, ¢ Nessh () Both (A) and (r) o, e but (R) i o | e %I. »
the correct explanagion of @, net | @ (&) #ry TEHE TR ®), (a3
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L e e T T )
middle ? G':]y:_ L2
@ P o e&-T R-g_gyp-
o D l-efs
i N s ® s
@ R R 3) R
@ Q ® s ) Q
5. Bix students of classX A, B, C, D, £ and F | 5, X FOHOA,B,C,D, EoRE =
have different heights. ‘D' is shorter than only S-S | D FE 4 e AT |,
three students. F is taller than A but shorter aiqm%f%gg%a‘m%q,@@*@
thanE. A s taller than D. Bis not the shortest m%mmﬁ%a BT Wl T
in the group. Who ii‘s:%é tpllest student ? %2 2
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6, T v H fafis aw)

c i ip between i 5
3§ tatement showing relationship e e & Py N 3,
‘ :if:t:ﬂ:l elements is given, followed by two HE niﬁi:-‘iﬁ & m-‘ﬁ? N y
coﬁcfusinﬂsf T and II. Assuming . Eeleae ﬁ‘%ﬁ?{% " JF%TF%Q‘;].I
statement to be true, find out which of the -=/ (Q = ﬁmﬁ‘] ke ;Tﬁ. Fn’b; i
conclusions is/are definitely true. T (]'(:)‘ h %f%.}.l
Statement: F = 1<N =G =E<R :F;&@QG-—_E‘:{R
Conclusions [: E>F Tk B F ‘
Mm:R>1 g;) R 1
(1) Both conclusions I and IT are true. ® A e 1w 11 vy £
{2)  Neither conclusion I nor conclusion IT 2 =@/ W
: 17 ¥ e
is true. W Uy g,
3) Only conclusi i 3
(3) y lusion 1 is true (3) mmlm%l
(4) Only conclusion II is true. .
4 Eh:: Fred 11wy 3
7. _R'sfatheris the only son of ‘B’ and brother of 7 ?{ T 2_1} b
P “A’ is the daughter of ‘B’ and sister of | ’A:W‘B' ﬁ%@;ﬁm? Yy bt
'Q. How is P related to Q 7 iRl HUQ F o) p ooy e
W &2 €03 MR
(1) Nephew [
£ .
(2)  Sister § e Ay
(3)  Brother m:‘m
@ wE O
)  Niece i
A4 ‘ﬁﬂ'ﬁﬁg
8. . I’omt'mg towards a gentleman Sonia 5 id 8 % - ‘
s d ald,

i I_{]"E‘ml]"'daugh"“—fisﬂ‘l&“siﬁte}:ofm Son’ ?Wﬁmmmﬂm k!
father.” How is the gentlem J.oons EREIRE i RS T, % fimr 5 A & e
— N 1an related to W’_mﬁ%%@*,.d%; ! |
(1) Brother \

(2)  Brother-in-layw (Q i EE;%

(3)  Husbang }2) ?‘ﬁi‘/'ﬁfa:_'

3 148

(4)  Father-in-law o Al ‘é‘?:z
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ah 1S quest - g
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11.

together and also ‘P’ and ‘R’ are sitting
together. 'R’ is sitting to the leftof QY. There
are two boys sitting between ‘M and Q. "N

D,607.508, 1 yum 10w
M 1wsn
@ G
G w55
W oRn

Six boys M, N, O, P, Q and R are sitting ina | 11, € w%% M, N,0, P, Q ¥ R T g 3
circle facing the cenfre. ‘M’ and’(’ are sitting llllII
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13.

conclusion(s)]
statements.

Statements ¢
1. Some tables are chairs.

2. No chairis Almirah.

Conclusions

1. Some tables are Almirahs.

II. Notableis Almirah.

(1) Both conclusions T and IT follow. -

2

Either conclusion I or conclusion IT

follows.

(3) Only conclusion I follows.
(4

Only conclusion 11 follows.

Samir walks 5 meters towards East. He then

turns towards his right and walks 10 meters ")(

more. After that he turns right again and
walks around 10 meters. Then he takes
opposite turn and walks 5 meters. Which
direction is he facing now 7

. o

(1) South
(2) West
(3) North
(4) East
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@ w1 e e
)
(@) et e 1 e 1
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N

e g # @i 5 el e ¥ g TR T
afﬁasm%aﬁtluﬁamél T, T
for R AT R A A 10 Het = ¥
ﬁﬁ?ﬂiﬁwﬂﬁﬂam%ﬁnsﬂam%; Eic]
s @ forw T 1 S E?

Given below is a question
follow
g‘a\gments numbered | and"-d{‘bj‘ bwo l'l{;i\‘
containing some information. Decide ::'ﬁ:\\‘.
: ic
of the skaternent(s) is/are sufficient to answer |
the question T 2
What is the difference in the age of ‘F am!.\
E 9 Hl]l
statﬂm"-“l 1: 'E is 10 years Yaung-vzr than .'l
P, \

gtatement s T is 5 years older than 'F'.

78 o e Fom T , T O A
i 1, s g e H, R e
it B T W R ., wE B
 ERILE -

\
\
\

' AE A d T
w1 E, TR FEIER

FAN: T,F A5 FAAGE
w1 AL T PR R

(8] Both statements 1 and 11 together are w
necessary 1o answer the guestion. e 5 5 T, O €
@ Either the statement 1 alome or @y AWFETL A TR L S TR
statement T aloneis suificient o answer ‘l E‘iaﬁ'{i‘—l%@qﬂ"m%\
the question. \

@ The statement 1 alone is sufficient \o" @ ¥l mawmmﬁnmt |
answer the question while the e A 1L S A H W B %
gtatement 11 alone is not sufficient \o\ e A B |
answer the question.

@ The statement 11 alone is sufficient 0 \ g @I ot B A W IR R TS
answer the question while the data in %mﬁmxm,mmmam
statement 1 alone is 0ot sufficient to ‘\\ e 7
answer the question. \

‘1 :
: ; § i {tern series SOME 45, AT EW® 90 MR (Y
15,1 Be $ER mm,m.ws B 1 T B! ﬁ@mtﬁmmiﬁ@ﬁ
| of the lettersare missing, These rrissing letiers At T :
are given in that order as on¢ of the four A :
algernatives below the series. Find out the 1
correct alternative. ll K
AC _CA_BCAC_-
C‘B_,AC_CA_BCAC__A H oW
(1) CBCBA
G CBCBA \
) cCBBC
(2) cceeC
(3) CRCBC
(3 CBCBC
| o CACRC
(4) CACBC g -
- RN ot
e
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PART - Il / 9T -1
GENERAL AWAREN

16.  Among the following which planet has the
largest number of moons ?

(1)
(2)
3)
)

Mars
Saturn
Mercury
Venus
17.  Which of the following Fundamental Right(s)
is/are guaranteed also to the non-citizens by
the Indian Constitution 7

(a) right to freedom of speech and
expression

right to life and personal liberty

right to assemble peacefully and
without arms

Choose the correct answer from the codes
below :

(1) Only (a) and (9

@) Only (a) and ()

(3) Only (a)

() Only (b)

)
©

18. A magnet exerting a force on another magnet
is an example of

(1)  Electrostatic Force

(2)  Gravitational Force

(3)  Contact Force

(4) Non-Contact Force

19, Which of the following wildlife sanctuaries
was notified as a tiger reserve in Qctober,
2022 7

(1) Srivilliputhur Megamalai Tiger Reserve
(2)  Ranipur Tiger Reserve

(3)  Kamlang Tiger Reserve

(4)  Satyamangalam Tiger Reserve

EaE
LAB-2023 E’%

I AT STl . What percentage of the earth's wagey i5 | 99, o T vt T S T e W
Essﬁﬂmﬁﬁﬁﬁaﬂffmﬁﬁﬁ@a% 2 for human use ? || e - R
16. iz (@) Only27% 1'. N
() ¥ (@ Lesataniy | @ 1%
(@ ¥ (3) Oniy 70% i\. A
% %1;' (#) Only30% | @ ¥
17. W@AE A o e iﬁﬂﬁﬂﬁ%m% gL \uﬂ\ichnft}wfoﬂﬂwingmuntﬁgswnnaﬁgu‘d |.11‘ mw@mmm.mnﬂ
iR =% ot W T/ Ty L] medals in under - 15 and under - 19 | 15 = =1 o & ¥R (EFSI-ES‘]I ERUE RS
e & e 7 €2 ; categories in the South Asian Youth Table | W S (FS-19) T A e 6 4
(@ v st s gy Tennis Championship - 2023 7 1\ o 2 R W e T )
. (1) Maldives 'I, Qj ElEHE]
(b) i o Fafewes Tl H AR ' »
(¢) o foredt et 3 wiferof w9eid 1% (s (2) St Lanka \‘[ ] m
w1 AT (3) Bangladesh \ @ e
e faw = 9 o I A W \ s
(1) F () A (Q) | T -
{2) FEE (a) @ (b Which film won the Academy Award for the | 22. qumm 959 SR T
) . e i T L T 1 R
(3) F (a) Best Documentary Short Film at the g5th \ -‘;‘i"ﬁ'{?
) el (b) Academy Awards 7 1 N—
P R (1)  Women Talking | )
18. ﬁmﬁﬁﬁmwﬁ?ﬂﬂ‘ﬂﬁﬁamm gy '| @
fritera 4 fowen semam 52 @ TopGun ! o = e
n ﬁ'ﬂﬁﬁm £ (3) The Elephant Whisperers \ s ﬁ;m -
5 K s (4) Anlrish Goodbye @
(3) v =w (e ) I
() Thed 7w (forewd =) ; \23_ e e T 6 T R (e
23, What is the World Health Organization e ST AL
19. =AY, 2022 F fifea § 9 fag Eeofeic (WHO) norm regarding the Doctor - E
mﬁmm%wﬁm Population ratio ? 1 ——
2
:_T)_qT TRfIn' . - { 1 1: 1000 ] B 4 <000
(2) TR = i (2) 1:2000 \ @ 1:0
(@) \ s = e () 1:100 | @ 1:50
(4) TEHTEE = SR @ 1:50 |
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24,

Which of the following pairs of the country

and its official currency is/are matched
correctly 7
(a)  Bhutan Ngultrum
B Austria Euro
(€} Ghana Cedi
(d) Atgenlina - Real
Choose the correct answer from the codes
below ;
1) only (@), (b) and (c)
(2) Only (b) and (d)
(3 Only (a) and 1))
#) Only )

25. ;&_s Per the Economic Survey of India
: 022-2.3, the maximum Ppercentage of schools
mlndlfi have,“mnfﬁmfoucwmgfmuﬁes
according to the 2021-22 statistics 7
(1) Libraries
(2) Computerg
(3) Girls Toilets

4)  Boys Toilets

26

:osz ger tl}e National Education Policy (NEP)

. » Which age BTOup is covered unger the
W Pedagogical ang Curriculum Strycpy
of Schoo] education 7 "
(1) 3t01s years
2) 410 16 years
®) 316 Vears
4) 3t01y years
&,
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28.

the book ' Payert, g
India’ which offaraq a

the followins
s the ayyp,
tof | 37

Y and Uni.ﬁriliwh Rula i |

Ty
Rule in India for ec’mlf}:m O the Britisy | h _"__‘__“___:_ v T T
(1) Bodrddin Ty p o TPR? | T R (e o e
ruddin Tyaky (0 \ TR R w3y T
(2)  Dadabhai Nﬂﬂmi’n oy \ L I o S
(3)  AD. Hume | D s
(&) Annie Besany ) | B s am
| W maE
Among the followin |
¥, states of India why .
state has the highest S . d\i&dltch 111' 8. Tm ;“jﬁ‘—; R (7w oy, imk
'mclass'[tu\f‘[‘lwhﬂ take paid miﬁundasm \ W‘ﬂw W '—;‘g,-.!\éﬁﬁ_ml
(in all rural sehools) s Per the Annual 5:‘5 \ ﬁ:-m'- VLU T Ty s =
of Education (ASER 2022 2 e o S e S R T
(1) Gujarat =
@) West Bengal §,
(3) Rajasthan "1\ o Teihm
A
4)  Kerala i
%) eral \ N wm
¢ \
29.  Which of the following fuslas the highest | 29, Sy & .
s W, E 3R in i
calorific value 7 s *51‘ R e
1y PG it \‘n o WA
#) tydga 0 | @ wEm
(3) Petrol s \ 3 wm
(4)  Methane \I ® ftic)
30. Whose decision is considersd to be final in | 30, i Hiavm e T e, S
case a question arises with regard to the | ¥ e Wem T e H iR W
disqualification of a member of the Parliament | T Tt offm W @ 22

according to the grounds mentioned in the

Constitution ? \
(1) The Chief ‘Electionj:&n\missiuner of \
India

h

(2) The joint sitting of the:Speaker of the ll
Lok Sabha and the; Chairman of the |
Rajya Sabha y \

(3) ThePresident ()} \
(4)  The Speaker of the LokiSabha

|

(1) A = e e

) SR ey A 'ﬁ“l*ﬁ“‘\"-‘ﬁ
H

(@
(&) e e


dell
Stamp


PART - IlI
GENERAL ENGLISH i

(31 - 35 ) Read the passage given below i{ld
answer the questions that follow.
While engaged in the laying of a new railway

line, T had a miraculous escape from an awful
death. I Lived in 4 small township, but my work lay
some twelve miles away, and I had a small tent on
the works Y““Mﬁﬂﬂm@hﬂm
On one occasion, an accident happening to

my horse, I got a lift into town, hoping that
Someone might do me a similar favour on my way
back. But this was not to be, and I made up my
mind to do the journey on foot, shortening the
distance by taking a cut hrough the hills which
would save me about six miles.
To take this shortcut,’it was necessary to

CTOss an ostrich ‘camp’ or farm. To venture across
these camps in the breeding season, especially on
foot, can be dangerous, for during this time the male
birds are extremely ferocious.

31. He generally slept in :
(1) a tented accommodation
(2)  the waiting room
(3) a train coach
A astaff quarter
32, Study the following statements.
(A) Male ostriches are ferocious by nature.

(B) To pass through ostrich farms can be
dangerous,

) Both (A) and (B) are true,
(2)  Both (A) and (B) are false,
(3)  (A)isan opinion and (B) is a fact.
(4) (B} is an opinion and (A) is a fact.

36.  The new phone

L™
33. Once he had to,g_a_y,el to the town :
(1) gettinga lft"]

2) cnaloca.l;%f}-_ﬁ"
=
(a3 cmhorsebﬁé;*

'R\

(3) on foot

(1) aguard
(2)  a ticket collector
(3)  a train driver

(4) an engineer

E:_j‘j

a A .
35. 'To venture across an ostrich farm ... *
L

The under[inef;ﬁ:‘word can be correctly
replaced with :{ 1)

"

(1) travel Y
- (¢ )
(2) move :\:\_\f
(3) dare

() g

(36 - 40 ) Complete the sentences given below

with the help of options that follow each
sentence.

=== the competition.

(1) blows over—.
(2)
(3)

&
LAB-2023 58 -

4

34. The narrator was working in the railways 5, .

37-

38.

40.

41.

Ram along with Shyam

to come, P
(1) were E’:]:'I
‘31] have been {:1;:]
@ & ")
(4) are 5
She ({

(1) was singing ¥
(2) have sung

— ®Xpected | 42,

I
|
l
I
|
|
!
I

\}FB.

(3) has sung |
(#) issinging }
Ramis __ same boy that I liked most. l
(1) the : |
(2) no article S{:‘i 11
@ a {"\i‘j 1
@ an %) |
& 1
1 the playgrotind'to reach the river |
bank. 48] |
(1) cut through {:\1
(2) cut down
(3) cutinto

(4) cut away

Which of the underlined parts of the following

sentence is incorrect ?
He had hinted that he wants’money.
&3
mtmg@

L @ £
@ (A H
(3 (B o
@ © -

Choose the option in which the fiven
sentence has been changed into Pis.ﬂlf Voicn,
T wrote a letter,

H} A letter has been written by me,

(2) A letter had been written by me.

() Aletter is written by me,

(4) A letter was written by me.

The law will punish whosoever is guilty
Which of the following words can replace the
underlined word ?

(1) impudent

(2) audacious

(3) innocent

{4) culpable

His views do not accord with mine.

Which one of the following words is opposite
in meaning to the underlined word?

1) clash

{3) coincide

(3) agree

4) correspond

45, Choose the option in which the followin;

words/ phrases can be amranged to form

Vo

correct sentence.

(A) may ﬁ\'ﬁ nﬁ“kc“’c
(B) eatsq. ur'* -
(D) that we

M (© @ 0@

D). (A) () (B)
(B), (@), (A) (©)
{4), (©). (B). (O}

E8B
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ﬁﬂwqaﬁEW% | 57, o H WG E

s ¥ 5 R a3 1] @ o
W (46 - 50)#“#;;“31:?3‘%%@ @ A () @ i AE M A IIl (3y eI
¥ a7 et &0 . 5 .
n@ﬁ?ﬁmmaﬁmﬁﬁﬂﬂﬁﬂ% @ Wﬁﬂs (4) T o T el | (4) I op
o fe| T Wt 3 g gl ¥ maﬁqﬁﬁia I'
o et et o e e A @ |
m%ﬂwwmwﬁﬁﬂ’”ﬁ e sl 1 *mﬁﬁﬂaﬁﬁiﬁaﬁﬁm—mﬁ‘\%_ + sy e " R Pt
£1 e 3 3 e, STAR-r 3 T ¥ B - R - i g
mmmmﬁmmmtzﬁ '|=!
eghi wrewell F1 rhm H T . g L sq et o o T TG T T R
mﬁ‘ﬁﬁmﬁl e 3 v =4 | 50, e st 3 T T €T o " = PSPy
i firey w1 O wEm @) \ () T EaHEEERE
EAEET 3) THE | (3) T g
s6.  Frotf @ v st 1 feren € : @ N ( \ i s g ¢
(1) R (3) HTER-STEETY I3 HE _ ‘. ® ?“
(@ il = e (4) e |
@) e i 0 55, e ¥ g facte = g 1!59_ o T R T i
(4) oo F 51. ﬁnﬁf@aﬁa{f_ﬂjﬁwﬂﬂzﬂa%= @) W@- l'| Q) TR
47, v HEptt ¥ e e ¥ W O @ FR-=F® " @ R
(1) e siepfet g & @ w-¥m (3) T
B WAveiAy o O T et d @ -7 ]ul @ W
3y freh frem (4) Te=a I
(4) e et S—r— y
' R 56, EL A A A a‘m“m';lﬁa, e i e
48.  umd ¥ et snfaet % smme § w e ? o ‘IT:}E‘T‘!TRIETW%T%: o | (1
E=uG A
(1) st safed 3 a7 o g v 3 ) ST 1| @
() foxeh ephat @ wafa g @ = =5 (2) @ |
5) v et @
© W?mmﬁh B 48] (3) EwErn }I
(@ T EeEh T w s = @ T (3 - | (4
Lns-mzaﬁ
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62,

(2)
(3)
)

88}
()
(3)
4

63.

(1
@
3)
@)

6d.
COTTO:
O
2
3
)

1)

SUBJECT SPECIFIC KNOW

A plane mirror is arranged horizontally. A 161
ray of light is incident on its centre from a
fixed source at an angle of 45°, The mirror is

* rotated about its centre anticlockwise by 10
The reflected ray is rotated

anti-clockwise, 107
anti-clockwise, 20°
clockwise, 10°

clockwise, 20°

lens and object.
lens and screen.
object and screen.
both (2) and (3).

Which of the following is an example of a
chemical reaction ?

Burning wood
Crushing a can
Boiling water

Dissolving sugar in water

Which of the following is an example of a

sive substance ?
Hydrochloric acid
Water

Sugar

Salt

i

PART - IV | W - IV

by

1

.

A sharp image of a distant object is obtained | 62.
on a screen by using a convex lens. To 1
determine the focal length of the lens, you

need to measure the distance between the :

an

LEDGE /

b4,

fan faftre T

e Y T T W %?1

2 45° ¥ =01 T SRR O H1 oy gy

= 10° S T I 2 TR i,
T T

(1) =, 10°
(2) =R, 200
(@) =, 100
(4) e, 20°

£5. When an on nai gets Tusted,

6. Which laboratory apparatus is used tor

T o W STEm w W
e i o W W fE W R e g
e A Fife w0 A A Gy

F s 1 g W R SEEET §
() EemaE) o
(2) <@ siREAL

(3) =E FCE

(4) () ¥ @E)

fr= 8 @ B W TEEES A w5

g7
(1)
2
(3)
IS

FHE TA
T FA T T
T e
T H = g

R R on ko e b e et e

(1) wEEEERE TEE
@
(@)
(4) =

R6

i iron oxide 1 1[\65. A R S s e s

» g
(1) with increase in the Weight of the nai),

@ wihoutany dangincon
of the nail,

() =% T e % e
o weight | @ T e e e

k3 wit.hau\ any change in the weight of the

i @) % R e

@ “"Mmmweweiammm-\\.\ @ @ S

\sa. T R o A = T o e e v

measuring velume of Yiquids 1 o T e

(1) Testtube

QT
(2) Bunsen burner ) THRER
(3) Beaker @ =
(4) Graduated cylinder 8y i e

&7. What is the purpose of  bio-safety cabinet 7 | €T ¥ e o T S

(1) To provide a place to store bislogical 1y 4 T R T R R

agents, =0 % T
(2) To conduct experiments requiring high V@ ?T;ﬂl:ﬁ ) T A
tempe:eitute, . il
(3) To provide a safe place to work with @ Eﬁi;ﬁiﬁ; ?-ml
binlogical agents. e a5
(4) To remove fumes from the air. \\ & WEL
\ 3 i T
: e T A
68. What is the approximate normality of dilute HSB. m?
ids i fence laboratory ?
acids in a science Ty \\ i i
(1) &N N
| @
9 o \ @ W
@ 1IN |
@ 2N
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one if @ student

What should not be d
accidentally inhales 50, gas ?
(1) Let the student inha

69,
le ammonia

VEPODIS,

The student should be
or lemon juice t0 drink.

The victim should be taken at once to
an open area.

Let the student breathe deeply.

(2) given fruit juice

@}
(4)

When sodium bicarbonate powder is added
to acetic acid, a gas evolves. Which one of
the following statements is NOT true for this
gas 7

(1) It dissolves in a solution of sodium

70.

hydroxide.

It turns acidified potassium dichromate
solution green.

It turns lime water milky.
It extinguishes a burning splinter.

]

3
(4

71. What is the function of a stopwatch in a
physics experiment ?
(1) Torecord time intervals.
@
3) To measure temperature.

To analyze data patterns.

s

4) To determine volume.

G

72, What is the boiling point of water in degree
Celstus ?
(1) 273C
(2) 373°C
()

-qﬁ '£E§ P ich substance i
69 < T =fee? . ‘_:::'S:i‘wg::m: nl:rC:rrlzckE[ matched with | 73, % W T s vy T A T T 42
) maﬁmﬁmwaﬁﬁ b el )]
( ¥ rc‘» uoric acid, g!asﬁ!: '||1‘ a e S, i
@ tﬂﬁéﬁmﬁ n— =ﬁi 2 Bromine, dark m10ur£t!&f;g§hss 1 e i, T m
@ 4 * Organic solvents, laskie e
e : Plasfisy | ) b e, e
@ ifed F g R R & W Ty (4) Acds, metal ks ll'. @ @,
o i
@) wm‘mﬁméﬁ% 74. Whatare the duties of a lab attendant? | 74. R AR
(A) Toassist the teacher with experiments, 1[ (&) S T AT 3 T T =
o, e # Hifsan AEFEAE Tag (B) To maintain the lab equipment and | (B) T S S g = T
. Wmi;ﬁqﬁﬁaﬁmﬁlsﬂﬁqt ! supplies. \ s f
Fora Pt # E <9 T Y A £ ¢) To provide safety training to the !1 © A s
students.
(1) “Ww#Wﬁwm ChﬂcsemEmrl’eClamwer-; - llh Fﬁﬁﬁ@i
& ‘ @) (&) and (©) only l&% | RO
B o e 2) (&) B ad(©) sk I @ @eFO
H iﬁ %| ¢ 1 - X
g 3 T g A R @ ®eny w0 | © F=O
1 (4) (A)and (B)orly (e | @ () IE)
() ﬁ@mﬂ’lﬁ?ﬁtﬂwﬁa‘r%n R . \]I
s a .
it T s ich lab equipment i od to hold test | 75- éﬁiﬂ‘ﬁmﬁma@ﬁw?smﬂm
iy Ll m i e I ‘:.:'::;5 d;in?:e:::g? R 1 Wmaﬂm ot 27
a | (y =
) siow e w ¥ o M Clamp | 5 e
@ 1 Gt 1 e w0 ¥ T (2) Holder | -
(3) e & e (3) Pair of tongs H! &)} el
() = fuifE 0 ¥ fam (4) Tripod stand | O TS
|
- 55wt 70 Fn R T €7
72, feii T 1 TR A7 76. In fireworks the green flame 15 praduced ]H 76, W H il
; Afewad / because of : ,—-,! ! -
(1) 273°C (1) mercury I'i; I {{32)) o
® 373°C 2) potassium {"Q 1 4
(3 o0cC (3) sodium %{ 1’: (4) mi;
- 3
4 100°C (4) barium o
e [G 19


dell
Stamp


B2, m&mmmwmmqﬁn%

|| 77, When ice convers i1t WAL mﬁﬁﬁaﬁ?‘% 82 otassium permanganate i
|| 1) heatis reloased g) il m.%.: ,u'l purifj"mg drinking water, hm:;euscd for
| () temperature is decreased @ ™ %ﬂ @) itisareducinga W 4 % fe, o &, A
||.| (3) temperatur® is increased ; 3 HTWW_.‘__.« i ; i 5 (1) 78R FET E =ed
|| @ eatis absorbed ) mwﬁf@@ﬂ%i (@) itis an oxidizing agent. qu' T 7 AT T £
E: i {3) it is a sterilizin 4 g (2) =% TF Elctican] Qt:fa 1
) \ ; g agent. (‘7Y - "
‘ ‘ 76, Vit is the process o eparating & mixure | 78. e S T i d (&) it dissolves the impurii 2 oy T T
i of liquids into its individual compenents by il et W T w1 A Wiy puritiesof irater. i RN
. : k ! : s (@) S el 1 A A g
| using the differences It boiling points 1 AT €7 Y C\:‘ e
called 7 i 1
| 83 what is the most co
(1) Filtrati . mmon ¢t : A ” A
_ [ {2)) E: tration o 2 extinguisher used in the mbma::;ea of fire | 83. WAWTIEN H NIH I A T A
| vaporation () . i AR wE W E?
[ (3) Distillati )< b, diakld
i 3 istillation @ A 5 (1 FA EEAETES
(4) Decantation @ D powder ) S
(4) P 2 =T
. - (3) Water @ =
* orophyll is a naturally occurri arf
compound in which y occuring chelate | 79, T T = & T T R (4) Foam ' £
: n the central metal atom i . J i f =
is: ?Wér-g:g}r@qm%; (' (4 wH
! (1) iron : - .
LN =
R 1) (W)j‘“. g4, When KMnO, reacts with (oXalic acid, | 84. | KMnO,, St O 4
(3} copper @ w7 MnOj is reduced to Mn?* afd. ot i X 7 i
(6) magnest @) F (D i 5 i = &, MnOF, Mn?*+H e @
gnesium 4 t T oxidized to CO,. Hence, 5 mL of 0.02 M e i T
_— () At () KMnO, is equivalent to : E’“ . €057, €0, H 3 A @ W ¥ gl
. ich gas i ; I ’ Ch! - 0.02 M KM
gas is used during photosynthesis ? [ 80, ¥ HATT F z{’}r;!aﬁ'-l & g (1) 25 mL of 02 M oxalic ad{‘dgfi ur M o :mmq P e
i Eaeerubs : rdn e, 0 M
(1) Nitrogen #2 & (2). 5 mL of 0.1 M oxalic acid " ) 2\1mqﬁmmﬁm
5 2) 0.1 M 3
{3} Methane 1) mﬁm (3) 10.mL of 0.05 M oxalic acid # MR L
(3) Carbon dioxide (2) HET @ 5 (3 005M s UEE F 10 mL
(4) Oxygen ¢ (3) R TmEEEE ml of 0.05 M oxalic acid (4) 0.5 M s
® i - ) O fgE % 5 mL
81, What are soaps ? 85. What is the purpose of e
. ! ; se of using a control ey
™ ?otf;“m or potassium salts of heavie 81 WEIFNE? ) in a biology experiment 7 i ::f;ﬂ%m S T
atty acids. £ 1) Wﬁmm & 7
® Bt S sif (1) Totest multple variables T ).
(3) Sa § D{,haa"}' fatty acids. ;{'\ S simultaneously. Q = m wEwn e = A
2 Its of silicates, @) TR qf%'rsr-‘%q - - o & fem)
Mt S ! To ensure safety duri .
res of glycerol and alcohols. g e @y B : ebty uring tlte-ﬁp.?f'm?nl. @ wmH e e g w4 & e
Frr s provide a basis f - sari =
mw el (4) To represei a:s iy coﬂpﬁr?ﬁo& o il
present a larger po. puilati &
Ber P "(""1{%"“ @ o e s o w0

o}
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86.

87,

88.

89,

90,

What does the term “pH" mean ?
(1) Acidity or alkalinity

(2} Optical density

(3)  Electrical conductivity

(4)  Temperature

For a fire caused by short - circuiting of an
electric circuit, what should not be done ?

(1) Switch off the main electric supply.

() Use a fire-extinguisher.
() Throw water in the area,
(4)  Throw dry sand in the area.

Which of the following acids (A-D) along
with its appropriate salt should be used to
Prepare a buffer with a pPHof 457

1) C K,=18x10-5
) D K,=23x10-9
() A K,=1x10-2

(4) B K,—29x10-4

Which of these is a primary standard
oxidizing agent in a redox titration ?

(1) KMno,

(2)  Oxalic acid

®) Kcr,0,

(4)  Mohr's salt
Soda water contains ;
(1} Carbon dioxide
(2)  Nitrous acid

(3)  Citric acid

(4)  Sulphuric acid

90.

JoFi0)
LAB-2023 %’%

22
N

86.

8B,

,,pHuWaﬂm;ﬁg?

(1) s e

42) eﬂﬁ‘eﬁaﬂe?)

(@) v pEFad

@; AT (_,\:l'
ﬁgaw%mfﬂff}eﬁﬂfﬂm%ﬁq
éf e =i ? %
TeA T Syf sfe =)

s o5 = W w2

& H 9FT S

0 el Y

@
(2

@
(4)

Fr=fafan & # g smm (A-D)
T ¥ W, 458 pH =
hqawhﬁmm‘m&q?
m c K_,=1.5"""P-5

() D.K,=23x70-"

() A K,=1x1073

(4) B, K,=29%10-4

- (@)
T H HH 9 U e
T A Te § 7
(1)  KMnO,

(2) wHiowfeT ufge
() KCr,0,

(§ et T

T

(1) =97 erafmEe
@ sz . L)
® W s

i L0
(@) e ey

w

a1

92.

T 5 5 i 93.

For burns caugeg
Y st
affected part ghoy )y b::,m O hok watey, the
ith ;

What is the purposg of ; fume hood 7

(A) To provide a g5
chemieals,

To remove fumgg from the ajr,
To provide a place tg store chemicals,

Place to work iy,

®)
©

(D)

To conduct experiments p
temperature,

(B) and (D) only
(A) (B) and (D) orly
(A) and (B) only

equiring high
(83

@
3)

91 i
ashed LR R "

W) dilute Natco, With e T W oy 7
(@) dilute aceye . (1) 7 Matico

acid 3
(3) cold TUning g @ T i of
@) ice B Fwmma

MRS @) =%

2 W T Ay
(8) T 5 e wm g s
A T e 5

ﬁﬁ'{@‘i‘lﬁﬁ%m|
mﬁa’v@tmﬁfmmwm 7
F fom Bk

o v e
(B)
Sl )

-

(D) mmwmmmm
" E T

&9 (8) ¥ (D)

e (A), () 3 (D)

i
@

(4)  (A) and (C) only

Fires caused by burning of oil cannot be
extinguished with water. Why is this so 7
(1) Because oil, being inscluble in water
and lighter than it, will float on water
and continue burning.

(2)  Because the ignition temperature of oil
is very low and it will keep burning even
when water is poured on it

Because oil will dissolve in water and
keep on burning.

Because reaction between oil and water
releases enough heat to provide the

3

)

ignition temperature of oil.

Y

)
|«
|

A (4) R (B)
A (A) 3 (C)

93, ﬁa'&:wﬁﬁwﬂmaﬁ:wﬂ*&#ﬁmw
HeRAll T i E
}],) IR W TR it ot e e
B % T 9 W e T sk v
|

iR T = e I A g
T ST W T e W

@

(3) R e 9 e e
i e st i i e s A
1 T WA T A
o Fr §1

4

RE


dell
Stamp


d,:_:,}l‘."l\')drg.l. N

. sample of concentrated H.50, ; = =
2 TR T T Ay gps L : X 250, is 95% | 98, Tz 1,50, 1 g TN T 5 e 5%
; cannot be | 9% et 9 F ol 9B 11,50, by weightand its density is 1 g/mL. HS0, i 7o T 18 g/mL ¥
i| ( he rate at which a solid dissolves £ o How many mL of this acid are required to s iNfEEFRIL G Eﬁﬁ Ffarmm
94, D ety @ <@ T l prepare 1L of a 1N solution of this acid ? fz ¥ FA mL # A T 27
“ | (1) Stiming yigorously: o) Zrg &1 AA i A 1¢)] 35.7 mL ) 37 mL
| () Adding more of the solid. ' 0 3 ded A SRETT B R @ 573 mL @ s73mL
I (3 Pulverizing or grindiné °P o SOIJ.: fﬁ g 35 foe 19 1A @) Ha. @ 143mL
il | increase the surface ared of the soli (4) 28.7 mL @) 287mL
“ ] contact with the liquid- @ Wﬂﬂﬁ@%#mmﬁm
| | (4) Heating the solvent 0 i ﬂtfbf:: e, I o it foera < o 99 Which gas is the most abundantin the Earth's | 99. 9% & arpriza & wad afew v w6 W
‘ | of solution because the mmelso CEik:] gaferd g | atmosphere ? fmE?
| the solvent and the solute will move rbon dioxid FEA TEHFES
|| faster (1) Carbon dioxide i) 1 TR
‘|. ' 2 Argon (2 =0
Frofafaa @ H e 59 W I &) 3)  atEEA
‘ 95, Which of the following is an example ofa | 95. 1 ¢ @) ofygen & R
.'[ flammable liquid ? ) Nitrogen ‘&) EIEEEL
; (1) TR =1 e
(1) Salt solution z ! - - .
[#)] et 100. Whatare the essential safety requirements of | 100. ﬁﬁm e T ST G e
G Ko é} ot a science laboratory 7 !
(3) Water : A -
o Eye-wash station. (&)
: 4) 3o (&) e :
I ). ‘Bl * (B) Proper storage space for chemicals. (ByY TEEA mm@ HET T
( 4 . (C) At least two entrance/exit gates. © wFAFFTT ﬁ%}/ﬁﬂ sl
{i | 96. An ammeter has 20 divisions between | 96. e & e W Q,WW 2% (D) Hlectrical sockets near i (D) fem % el FEEl
Mark 0 and Mark 2 on its scale. The least 20 forstrerr B €1 T 0 e € " s
1) (A), (B) and (C) only (1) (A), (B) O
count of the ammeter is : U] 4 s D)
@ (&) (C) and (D) only @ (4) (O R
| 1) 024 (1) 024 f o
l 2 014 @ 01A (3) (B)and (C) only @ o (B) ai!R{C)
; . 4 A) 31T (B)
(3) 002A @) 002A (4) (A)and (B) only @ (&)
5 001 g 5 e 9 9w AT
| & g o R 101. You need to prepare 40 mL of a 0.15 M 521- 0.80 ::\;:‘r‘;mﬂls f o
glucose solution by taking some of a 0.80 M 40 mL;:n - A %‘fﬁ A ol
97. What does the term “flammable” mean ? | 97. ‘ermlier’ el 1 1 a1 §7 ctock solution and diluting it to 40 mL. What :ﬂﬂﬂ D;I% i am‘“'af‘“ L
(1) Producing a strong odour. @ = iy =y volume of the stock solution do you need ? { f W]_ﬁ :
' 1) 75m
ing fi 1) 75ml (
(2) Capable of catching fire. () s e T ((2; o @ 2M
3 ; a /
(3)  Easily broken down by heat, (3) ST @ g2 = | @ 53mL (3) 53ml
(4)  Capable of ; ici L —
) pable of conducting electricity. (4) oo 1 Teed w1 5 AEH ) ) 60mL (4 60mL
R6

=R

Ezm |
- 24 i
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pdard unit of mass ?

102. What is the sta

‘ | (1) Metre

' | (@ Second
(3 Kilogram

’ (4) Litre

What is the chemical syrnbol for sodium ?

(1) N

(2) K

(3) Na

(4) So

‘ 103.

104. Assertion (A) : For preparing sulphuric acid
solution, always add the acid to water very
while stirring vigorously.

mount of heat is

d is added to

slowly
Reason (R) : A great &
liberated when sulphuric aci

water.

(1) (A) is true, Lt (R) is false.

() (A)is false, but (R) is true.

| (3) Both (A) and (R) are true, and (R) is

the correct explanation of (A).

(4) Bath (A)and (R) are true, but (R) is not
the correct explanation of (A).

105. Aqueous solutions of the sulphate salts of

three metals X, Y and Z are kept in three
separate beakers. It is found that X reacts
with both YSQ, and ZS0, solutions, whereas
Z reacts only with YSO, solution. Which of
the following is the correct order of reactivity
of the three metals ?

1) X>Y>Z

(2 Z>Y>X

(3) Y>Z>X

105, 9 TS X, Y ¥R Z & wehe @il & e
Frerl w1 i - A § T
meﬁ'ﬁ'x,\,m‘mzm_lﬁm
+ g SfufEa FIO & WA Z HEa ¥S0,
e 5 v A ) e 44
;ﬁﬁwgu@aﬁm‘mﬁrmsﬁmwaﬁm

7
(1)
(2
(3

X=Y>Z
Z=Y=>X
Y>Z=X

4) X=Z>Y

10}

26

(4 X=Z>Y

109. Which of the following is not & safety

precaution in a laboratory ?
Wearing 2 I?}}’aﬂat

Eating and drinking in the lab
(48]

&)
@

(3) Wearing gloyes,

106, T Foer T pH W P A €2

4 ) A 106- What is the pH value of a neutral solution ?
(1 ;
) FHE (V) D) o 1
(3 Fﬂi o ' (2 14 g o 14
@ @ 7 g‘)} @ 7 e “
103. meﬂﬁﬁ‘mﬁﬁw%? 4 10 (@) . @ 10 .
1) N e S
EZ; K (Q o g
Na 107. What should alab{;;ﬁendmk do if they spill a | 107. e fadl wEFRE! of=rE d w8 wEE
#) chemical ? < O e ?
@ S exinl
(1) Tmmediately clean up the spill (1) e T el
Al 8 s ﬂiﬁ‘@ i 2y Report the spill to the lab technician / (2) wAERTRT AT I EE-EAEE
E’;ﬂggﬁjgfﬂa@m_ﬁwmwﬁ ? teacher incharge T R
W(R,:aﬁﬁwqﬁiﬁmﬁmm@ (3) Both (1) and (2) @ (1) & (2) S
mﬁmw%%' () Naneofmeggw ) i G
(1) (a) @ &, G (R) 7 E E;-)
o W ﬁm ey % 108. Sodium metal is keg()under : 108, T Hg 1 fEH T A i 2]
@ W i (R) S B € A (R), (A) 3 edd )
q@ e E (1) Water ;}f (Q T
@ {A.? i (®) iﬁT 7 €, Al (R), (A) k2 (2) Kerosene {z\l (2 firgt e
i =T T € ' )
(@) Petrol @ e
(4) Alcohol by e

109. ﬁnﬁf@ﬂﬁﬁﬂammmﬁgxmmﬂ
w57
(1) e FE
2) e 3 @ 36T
(@) T T
(g) R < T

(4) Wearing safgt;ikoggles

RE

——
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N jum
aring sod

. rep :
Assertiont (A For prosi!icaleglass p
" ‘desoun'on.u oSl e
hyam]lx:‘reeo{ iches, P o o 5
- a different
. Dﬁ c
Rcas'or:h(fr}e.i]s :, chance the ternpexatur
f:‘:;f‘ could cause it to shatter:
& L;\J <« true, but () s false.
@ (A)is false ¢ (R) is troe:

,and (R) i
@ ) are true,

Both (A) and (R :

the correct explanation :
(4) Beth (A} and (R) are e but (R) is not
the correct explanation of (A).

111, The main buffer system of the human blood

is:

(1) CH,COOH-CH;C00™
(2} NH,CONH;— NHICONH”
() H,C0;~HCO3

(#) Hy00,- 0}

112, Which instrument is used to measure the
mass of an object ? }
(1)
2
3)
4

Balance
Bunsen burner
Graduated cylinder

Thermometer

113. Which of the following titrations is possible
using phenolphthalein as an indicator ?

(1) Hydrochloric acid with aniline
2
3
4)

Sulphuric acid with aqueous ammonia
Acetic acid with pyridine
Oxalic acid with NaOH

M{A}: Tﬁﬁ'(ﬂm)mm

ﬂ:‘;g ﬁ "
‘m-’“‘(’} %ﬁﬁﬁ{n)ﬂﬁ%&
T N
o @A T & M), ()5
2
@ (a) 3t (R 3 7§ TR, 43
e il

351_ wE @ 7= 7 fred g:
W) I 3COOH - CHJCOO w
) ‘,vﬁHZCON H,~NH,CON H*
(3) ~H,C0; - HCO3
(4) ( (1,005~ COF”
(3]
112, &ﬂ?‘éﬁﬂmmﬁfmmmﬁq
e & 2
1, g
@ FTHETR
(3) @it faeist
(4) o

i_""_}i-i'“‘,‘_fj?ﬂ T S W A Hd €2
[‘.U_C»I{ﬁ"m & Ty TEgrI fHe

() =<Kt s & w9 FOHf s
6]

I
£

28

m; ¥ g A e
(&) ¢ NeOH ¥ 9 ssers Wfre

. . ‘
afer Wﬁqr(h’ 114 which of the following statements best

115.

113, TF H5a% & ©9 1 FACHIeH B SETFE 116

explains why n}eli}'r sulphuric acid is
commonly used irrré-d'ox reactions, while HCI
“and HNO; are ndg"%'eferred ?

(1) Sulphuric acrius;gicts as both an oxidizing
and reducing agent, providing
versatility i:% fedox reactions.

(2) HCland HNO, are highly reactive acids
that may intlcf}ere with the desired
redox reaction.

) Sulphuric acid is a strong reducing
agent, making it ideal for redox

reactions.
HCl and HNO,
redox reactions due to their wei

properties.

are not suitable for
ak acid

5 ;
What is the cor:e%:t‘;l;}ay to prepare 100 mL
of ~ 1.0 M hydfochloric acid solution
(MM=365 gfmo}lg?:s

(1) Add83 miygfyconc. HCL (12 M) to
~ 50 mL nf‘ﬁs’lﬁled water, stir and
make up the yolume to 100 mL with
distilled waters,
Add 917 mL of distilled water to
8.3 mL of cone. HCL
Weigh 365 g of HCl and dissolve it in
100 mL of distilled water.
Add 8.3 mL of conc. HCI(~12 M) to

100 mL of distilled water.

@

@)

@)

HNOﬁ‘flm?xfﬂmiﬁffim??

) werfeg A
mmmmmﬂmmgﬁm
ﬁmﬁiﬁag{,@mmm%
HCI #T HNO; B ibede Bip R i
s 3 & 1 R et e 4
i T F
wﬁ%mﬁmwm
qa%%,ﬁ':ﬁﬁﬁﬂaﬂ'iﬁmaif?wfm
T A E |

HC1 & HNo_,,ammmmguﬁ%
mﬁﬁaﬁmﬁ?ﬁmmaﬁ
kol

2
Q

@

)

115. ~10 M TEEERITE TE (MM=365 g/mol)
X 1 % 100 mL FAR FC FHI

o A E?

1) FEHCA(12M) % 83 mL F ~30 mL
mﬁﬁﬁmﬁmﬁﬁnwm

% T s 9 100 mL =

g3 mL G HCl % 917 mL #gd €
Frremd |

36,5 77 HCl 1 3 &t A 100 mL
g e A |

Fz HCI(-12 M) % 83 mL 1 100 mL
a7 vt 4 Frend |

@
)

(4

116. ﬁqiﬁmmgmmaﬂw

Which of the fo]{l‘f:vy‘ing Jaboratory safety
equipments is used to'extinguish small fires ? Fret g % ferg T = ¥?
(1) Laboratory apgém (@) e T
(2) Blanket (2) #=@
@) Safety gopglés”) (@) g
(4) Fire cxhngmsul‘}er (4) FAIEE
AEPTETTN

R6
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.:ii i arit 7
I s the SI unit of electric currer
117. What 15 ]
(1) Watt
(2) Ohm
(3) Volt
(4) Ampere

. mmon name for
118. Washing soda 15 the co

(1) Sodium bicarbonate
(2) Calcium carbonate
(3) Sodium carbonate
(4) Calcium bicarbonate

wer
Read the following passage and ans

questions 119 - 120 :

A solution of hydrochloric acid of concentration
~0.1 mol dm~3 was prepared. Before a class
attempted a practical using this solution, a
technician standardized the hydrochloric acid with
sodium carbonate solution. The technician
dissolved 1.06 g of anhydrous sodium carbonate
in water and made up the solution to 100 mL. A
10.0 mL portion of the sodium carbonate solution
was transferred to a conical flask. Three drops of
an indicator were added, and the solution titrated
with hydrochloric acid.

119. Whatis a possible titre value of the titration ?

1) 152 mL
(2) 211 mL
(3) 10.6 mL
4) 95 mL

120.

Which of the following combinations of
indicator and colour change is correct ?

(1)
(2) Phenolphthalein, colourless to pm.k
(3)
(4)

Methyl orange, yellow to pink

Methyl orange, orange to yellow

Phenolphthalein, pink to colourless
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(1) 152 mL
2 21.1mL
(3 10.6 mL
4) 95 mL
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